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Lucreaza independent.
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Numele si prenumele evaluatorului: Punctaj total:




Annex

m m+n

x™-x™" =x
xMx™ = xm
(xm™)" = x™"
(a—b)(a+b) =a*—b?
(a — b)? = a? — 2ab + b?
(a+ b)? = a? + 2ab + b?

vparallelepiped = abc



Nr. Items Score
1 Fill in the box so that the statement becomes true. L
4 2
“fa=-:—and b =3 — 6, then 2= 0
3°9 b 3
2. | Onthe picture, the straight lines a and b are c L
parallel, and c is a transversal line. Using the 0
picture determine and write in the box the a _ £0° 3
value of X.
b x/
X = :
3. | On the picture, the graph of the function L
f:R->R, f(x) =ax?+ bx +c, a+0, g
is represented.
Using the picture, fill in the box with one of the symbols
“< > or “=", so that the statement becomes true.
A= b? — 4ac 0.
4 A laptop costs 5000 lei. Determine the price of the laptop after a 12% discount. L
" | Solution: 0
1
2
3
4

Answer:




64—_2—2

Calculate the value of the expression: ——-. L
22:3

Solution: 0
1
2
3
4

Answer:
Let A be the set of real solutions of the equation 2x2? + 5x — 3 = 0. Determine the L
set A\ {—3; —1}. 0
Solution: 1
2
3
4

Answer:
Consider the acute triangle ABC, where AB = 13 cm, B L
m(£ACB) = 45° and AD = 5 cm, where D is the foot of 0
the altitude BD. Determine the length of the side AC. 1
Solution: 2
3
A D C 4
5

Answer:




The test for a mathematics competition contains items of 4 points and items of 5 points.

8. A pupil completely solved 12 items and obtained the total number of 53 points. Ia

Determine how many items of each type has the pupil solved.
o 1
Solution:
2
3
4
5
Answer:

g, | Consider the functions f,g:R->R, f(x) =—-4x+2, glx) =2x+9.| |
Determine the real values of x, for which the value of the expression f(x) — g(x) is 0
nonnegative. 1

2
Solution: 3
4
5
Answer: x €
10 A metal rectangular parallelepiped, whose dimensions are 4 cm, 6 cmand 9 cm, was L
" | melted and turned into a cube. Determine the length of the edge of the cube. 0
Solution: 1
2
3
4

Answer:




11.

Determine the values of x € R\ {—3; 3}, for which the sum of the values of the

x245x+6 4x-5

algebraic fractions > and Is equal to 1.
xX“-9 x-3

Solution:

Answer:

ook wWNDEF, O

12.

Consider the function f: R = R, f(x) = ax + 1 — a?. Determine all real values of
a, for which the graph of the function f passes through the origin of coordinate system,

and the function f is strictly decreasing.
Solution:

Answer:

~AOwWONEFL,O™




